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QUESTION 1

A paired samples t4est is different from an independentt-test because it:
A. Assesses each person twice.

B. Compares groups on correlations.

C. Compares groups on means.

D. Compares groups on variances.

Correct Answer: A

QUESTION 2

If you request an aggregated dataset or data file in the Aggregate procedure, the number of cases in the new
aggregated file is equal to what?

A. Number of cases in the original data file

B. Number of aggregated summary variables

C. Numberof cases that you specified in the Aggregate Data dialog box

D. Number of categories of the variables specified in the Break Variables list

Correct Answer: D

QUESTION 3

Which options are available to edit bar charts? (Choose three.)
A. Changing patterns displayed in bars

B. Changing the major increment on the Y axis scale

C. Displaying data value labels

D. Changing the variable displayed on the X axis

Correct Answer: ABC

QUESTION 4
As the sample size increases, the amount of variabilit9 in the distribution of sample means increases.

A. True
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B. False

Correct Answer: B

QUESTION 5

What statistical test should be used to assess whether the percentage differences observed in a crosstabs tablecould
have occurred by chance?

A. Correlation

B. Linear Regression

C. T-Test

D. Chi-square test of independence

Correct Answer: D
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